
0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0034
= 0.0178

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0018
= 0.0128

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 139.5679
= 159.1535

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0034
= 0.0010

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0019
= 0.0015

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0142

= 0.0056

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0118
= 0.0026

gaussian 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0037
= 0.0113

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0022
= 0.0101

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 137.6977
= 152.9229

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0036
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0024
= 0.0007

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0003

= 0.0015

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0029
= 0.0007

gaussian 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0040
= 0.0080

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0026
= 0.0077

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 145.4976
= 177.9661

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0040
= 0.0004

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0027
= 0.0004

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0006

= 0.0005

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0029
= 0.0003

gaussian 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0052
= 0.0140

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0019
= 0.0154

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 118.5385
= 471.3691

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0051
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0025
= 0.0007

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0001

= 0.0007

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0024
= 0.0006

gaussian 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0033
= 0.3312

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0036
= 0.3436

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 10507.0664
= 56162.4091

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0053
= 0.0019

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0030
= 0.0018

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0009

= 0.0022

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0117
= 0.0012

gaussian 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0183
= 0.8679

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0384
= 0.8465

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 46943.2477
= 168445.5034

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0081
= 0.0094

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0033
= 0.0105

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0006

= 0.0090

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.2343
= 0.0053

gaussian 3.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0102
= 0.0299

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0002
= 0.0158

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 156.3000
= 204.0099

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.2227
= 0.5771

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.3454
= 0.8394

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.6925

= 1.3675

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 2.8722
= 6.8100

box 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0041
= 0.0167

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0019
= 0.0121

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 174.3697
= 163.0643

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0042
= 0.0020

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0023
= 0.0026

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0170

= 0.0111

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0140
= 0.0049

box 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0033
= 0.0095

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0026
= 0.0087

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 181.9866
= 164.4414

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0035
= 0.0008

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0027
= 0.0004

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0005

= 0.0025

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0037
= 0.0012

box 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0027
= 0.0072

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0024
= 0.0071

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 170.1295
= 213.0480

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0029
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0025
= 0.0002

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0005

= 0.0010

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0036
= 0.0004

box 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0028
= 0.0332

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0035
= 0.0273

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 117.6945
= 1613.8257

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0033
= 0.0006

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0045
= 0.0008

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0011

= 0.0009

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0044
= 0.0008

box 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0013
= 0.6779

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0036
= 0.6835

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 23348.0045
= 83937.1383

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0015
= 0.0068

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0029
= 0.0053

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0027

= 0.0103

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0352
= 0.0074

box 3.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0371
= 0.1184

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0005
= 0.0402

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 189.9222
= 318.4757

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 1.0047
= 2.4084

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0690
= 2.7078

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 4.4371

= 4.4345

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 34.7169
= 62.4886

rtheta 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0039
= 0.0460

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0032
= 0.0236

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 132.4596
= 243.2462

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0034
= 0.0132

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0016
= 0.0491

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.3318

= 0.0406

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.2383
= 0.0342

rtheta 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0036
= 0.0104

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0028
= 0.0096

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 140.3471
= 158.5518

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0036
= 0.0007

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0032
= 0.0017

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0063

= 0.0053

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0065
= 0.0024

rtheta 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0032
= 0.0070

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0023
= 0.0071

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 139.3618
= 193.6725

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0033
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0026
= 0.0006

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0009

= 0.0016

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0034
= 0.0004

rtheta 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0032
= 0.0132

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0021
= 0.0134

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 82.9011
= 583.1868

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0035
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0024
= 0.0007

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0002

= 0.0011

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0017
= 0.0005

rtheta 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0086
= 0.5129

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0170
= 0.5310

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 16686.5779
= 71966.2474

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0038
= 0.0057

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0027
= 0.0047

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0022

= 0.0071

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0259
= 0.0065

rtheta 3.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0252
= 0.1694

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0021
= 0.0716

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 107.6285
= 326.9603

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0255
= 0.4916

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.4030
= 1.4827

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 2.9734

= 0.8634

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 7.7166
= 7.6536

cross 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0057
= 0.0215

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0016
= 0.0143

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 163.7327
= 172.8493

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0052
= 0.0025

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0038
= 0.0088

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0600

= 0.0239

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0406
= 0.0102

cross 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0048
= 0.0141

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0021
= 0.0107

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 166.0240
= 159.9194

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0049
= 0.0004

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0024
= 0.0011

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0033

= 0.0034

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0057
= 0.0017

cross 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0045
= 0.0099

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0031
= 0.0080

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 156.6068
= 168.3371

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0045
= 0.0002

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0031
= 0.0004

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0001

= 0.0011

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0035
= 0.0005

cross 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0044
= 0.0129

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0026
= 0.0108

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 163.2637
= 284.8368

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0044
= 0.0003

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0026
= 0.0006

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0001

= 0.0007

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0036
= 0.0004

cross 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0088
= 0.1994

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0003
= 0.2232

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 3562.3771
= 25404.8731

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0063
= 0.0010

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0016
= 0.0010

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0012

= 0.0024

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0145
= 0.0016

cross 3.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0027
= 0.0178

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0017
= 0.0150

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 131.0945
= 288.3364

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0033
= 0.0097

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0051
= 0.0159

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0195

= 0.0357

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0072
= 0.0182

telescope 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0026
= 0.0114

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0011
= 0.0102

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 109.4667
= 303.5203

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0001
= 0.0055

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0047
= 0.0091

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0333

= 0.0126

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0169
= 0.0046

telescope 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0022
= 0.0176

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0016
= 0.0168

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 83.6210
= 929.1055

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0006
= 0.0032

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0064
= 0.0048

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0093

= 0.0038

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0038
= 0.0042

telescope 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0202
= 0.2379

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0022
= 0.2454

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 4654.1049
= 37287.9555

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0003
= 0.0058

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0102
= 0.0159

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0049

= 0.0100

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0018
= 0.0125

telescope 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0982
= 0.6714

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0709
= 0.6361

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 13107.0839
= 77364.7256

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0016
= 0.0109

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0054
= 0.0205

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0068

= 0.0086

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0406
= 0.0114

telescope 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.1196
= 0.7833

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0306
= 0.8601

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 111241.4548
= 434837.0735

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0001
= 0.0181

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0034
= 0.0055

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0056

= 0.0237

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.3484
= 0.0082

telescope 3.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0013
= 0.0503

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0008
= 0.0241

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 145.2932
= 172.4084

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0144
= 0.1576

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 1.1314
= 2.6582

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 1.9009

= 2.4165

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 21.7950
= 51.0821

triangles 0.1



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0032
= 0.0174

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0010
= 0.0127

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 141.3561
= 155.1690

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0026
= 0.0021

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0020
= 0.0036

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0247

= 0.0051

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0185
= 0.0027

triangles 0.2



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0035
= 0.0091

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0011
= 0.0086

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 136.1193
= 126.7856

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0034
= 0.0005

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0014
= 0.0007

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0000

= 0.0033

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0031
= 0.0016

triangles 0.4



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0035
= 0.0062

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0015
= 0.0060

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 143.7965
= 140.9473

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0035
= 0.0003

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0017
= 0.0005

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0001

= 0.0010

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0031
= 0.0004

triangles 0.8



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0041
= 0.0088

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0012
= 0.0094

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 124.7378
= 219.6901

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0039
= 0.0004

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0014
= 0.0008

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0002

= 0.0009

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0027
= 0.0005

triangles 1.6



0.05 0.00 0.05
xfiboff (sim)

0.05

0.00

0.05

xf
ib

of
f (

re
co

ve
re

d)
= 0.0016
= 0.1886

0.05 0.00 0.05
yfiboff (sim)

0.05

0.00

0.05

yf
ib

of
f (

re
co

ve
re

d)

= 0.0015
= 0.1969

15000 20000
starflux (sim)

15000

17500

20000

22500

st
ar

flu
x 

(re
co

ve
re

d) = 2171.5956
= 11440.1100

0.05 0.00 0.05
xtel (sim)

0.05

0.00

0.05

xt
el

 (r
ec

ov
er

ed
)

= 0.0009
= 0.0021

0.0 0.2
ytel (sim)

0.1

0.0

0.1

0.2
yt

el
 (r

ec
ov

er
ed

)
= 0.0003
= 0.0027

1.0 1.2 1.4
fwhm (sim)

1.0

1.2

1.4

fw
hm

 (r
ec

ov
er

ed
) = 0.0017

= 0.0033

0.40 0.41 0.42
transparency (sim)

0.40

0.41

0.42

tra
ns

pa
re

nc
y 

(re
co

ve
re

d)

= 0.0360
= 0.0020

triangles 3.2


